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∂ ξ − + ∂ ξ +

+ − ξ = j�k

o�-���-��)��� 9��-"�:��"�������7�"/��'�����+7���

�����������$����$��%� �
�η ��'+��&��������� 
� ��� ��

�6&�'�+7�$+�$�����.���+
� � � �
� �

� � �
�

	 
 � �

	 
�


 � 
 �


 � 
 �

� �

� �

+ = ω ∆ + ∆ − ω
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ω = ω + ω

j�Dk

��$&��$�������$�����.�����j�Dk�$�/��:���/���)�$ 

���6���$�)��� � � �ω < ω �����-�����3�-���&�)������&�/ 

'�:���+�'+��$+�&�'�$�6-�4�'5���-����'�6�$�)�$�� 

��-��� '�:�8�-�� 3��&��/�'�-��&�'�$6�&��&"$����+�

��36��7�$+�9�$&�������'5�6-��j3�#3�#�����3�6-�k��

�����$&��$����+7�$+�m�2n���'+����'�3��/�$&��$����6(

3���$�-�$��%�����&���&�'�:���'5�6(��������&������� 

����'5�6(�3��)���+(�:�$���$��� �� ����36����$+�"/�� 

�6-�&���%��� �� &���-����-�ω� ��β�� 3�/���6-� ����-

����3�-��)��
��� ���� �

� �

� � �
� �

��� � ��� �
� �

�

π π   ω = ω β + ω = ω β +      
ω = ω + ω �������������������

j�1k

���/���6%�&���-����β�3���$������:�$���$���&�/ 

'�:�����:�$���$���$�+3�%�-�:/"�)�$����-������&�)��

$'�/"78�-�����3�-


��� � ��

� �

�
�� �

�

� �

�

+ωπ β + = =  ω 
j�2k

!�����������'5�6(�3��)���+(�:�$���$��� �� �&��� 

-����β����:��&����-������������'5�6��3��)���+��=�� 

)���+-�β��3�&��-�:"���� � �−π ≤ β ≤ π �$������$��" 

7�	)�$���6� � �� �ω ω �-��+78��$+����������'�� jB��ωk�

�'�	:�$���$��� �� � �� ��� � �3-��+78��$+� ��&��/�'�(

� ��� �− ≤ < ∞ ��� �� ��≤ < ∞ ��������$��"78���3��)� 

��+���'�)���&��/$���'��6������'�����,$&�'53������

&���-�����β�&�3��'+���&�'")��5�$�--����)�6��#��4� 

��� 3���$�-�$��%���'�)����(��������3"78�(���$&�� 

$�����������'����$�$��-��j�k�&���'7�6(�/�&"$��-6(

3��)���+(�:�$���$��� �� ��� ��� �!���9��-�&���-����β
�$����$+���8�$�����6-����������8���$+�����$����) 

��$�5�����$�-�-��:�$����$���(�3��)���%�

��$&��$�����+�(��������$�������'������&�)�����

"&�"#�-��$��������j�Dk��6��:���$+�)���3�&���-���6

β ��ω $'�/"78�-�����3�-


	 
 � ��� 	� 
��� 	 
�
�

� ��
ωΩ = − β j��k

0����$�� ���3����:���� $�-�%$����/�$&��$����6(

����6(��$������$��"78�(���3'�)�6-�3��)���+-�&��� 

-�����β����/���)���&���&�'�:���'5�6(�����������'5 

�6(�β�#��4������$&�'�:��6�$�--����)����>���-��� 

��3�-���'�#�/��+��6���"�$&�$����&���-����3������+$��

&��$-��������$+����'�#�+���&���/�����$�$��-6�j�k�&��

��������'5�6(� � �� �� �− ≤ < ���&�'�:���'5�6(�3�� 

)���+(� �� �≤ < ∞ �:�$���$��� ��&�)����!��� �β = π
&�/'�:�����$"�$��"����&���β�z�B�:�$���$�5� � �� = ����� 

8���$+�����'5��)���$������$��"���$�$��-����$�+3���6(

�$��''+�������=��)���7� �β = −π �$������$��"���&�� 

/�'5��+� ��'�)���� ��������'5��%� :�$���$��� �� =
� ���= − �&���������%���&�)������&�/'�:���$�(���+��

"$��%)���$�5���$��#��4����/�$&��$����6(�3���$�-�$ 

��%������$�� �� �#����)��6�$��3"��� $���("�)�$����-�

*�$�����*�$&��/�'�������-&����"�6�����$����)��-��/��-�� 

��-����$��''�
���'$�6-��'���+-��&���3������.�������)�'5 

��%� 3�/�)����.���&�'")������ $�&�-�857�4��-"'6� j��k��

��)�'5�6(�"$'���%� j��k�� &"������6-��'���+-��&���3���

��.������&�$�������������-��(�-�/�'���'�$$�)�$��%���&'� 

&����/��$���;"�5���>�)��-��&���3����)�$'��������.�����

����6��!t7� $������$��"7����$&��/�'���7���-&����"�6� �

-�-���6����-���� � � �
 
 
< <

>��'���

��+35����/���6(�&���-������β���ω
$�&���-����-�� � � � �

� � � �ω ω ω ��

��944�������-�� � �� �� � ���'�)����ω��(�/����

/�$&��$����6��$�����.���+�����-��:���'5

β �−π B �−π

�ω ω � �ω 0

�ω B � �ω ω

�ω ��− ω 0 �� ω

�
� �� ω 0 �� ω

�� � ��− 0 ∞

�� ���− t 0



�����������	
	���
�������
	�	�����������	�	�������������
���������
���
����������� !"#��$%�%$

��$�)��


� ���� � ��� �
� �

π π   ω = ω β + ω = ω β +      
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